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paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on -
the answer-book during this period.

Rgita g7 : 3 o2

Time allowed : 3 hours

64/1/3

et (dgri=ie)

GEOGRAPHY (Theory)

IeIFTT 37%F : 70

Maximum Marks : 70

1 P:T:0.



|

T
25

Wﬁ?&f:

() T 1 FT GEIT26 F |

(i) & ¥ AT E

(iii) FAF 97 & 3% IqF G 31d 8 |

(iv) ¥o7 G&IT 1- 10 7% 317 TY-It] T17 97 & | I J97 &1 1 5% & | 578 &
Y% ¥ H I 20 VIe5) & e F7 781 g7 =T |

(v) 97 G&IT 11- 20 TF TY-FTH a7 o7 8 | JTAB FA F 3 3FH 8 | 59 &
97 TEIT 20 To-3TERT & | 379 & I9% J97 HT IR 80 1] & 37feres F7

_ e &1 =T |

(vi) Y97 G&IT21-25 T H4-FR TA F57E | TS T F 5 JFH 8 1 578 @
Y% §97 FT I 150 T2 8 318w &7 75 s wEe |

(vii) I¥7 T&IT 26 FHEEE W 3T 78 Gimifcrs & & ygar 3k ol Fam ua
THIHT FH & Galea 8 |

(viii) TEAR 3R GRA & 1T 70 I@r-7riam] &1 39 IR-YiesT § HavT o
Fiforg /

Gix) IGLAERE 97 3 o3 @i a1 @faent & 33T #1 3gaiad & a8

General Instructions :

(i) There are 26 questions in all.

(ii)  All questions are compulsory.

(iti) Marks for each question are indicated against it.

(iv)  Questions No. 1 — 10 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 20 words.

(v)  Questions No. 11 - 20 are short-answer questions carrying 3 marks each,
out of which Q. No. 20 is a value based question. Answers to each of these
questions should not exceed 80 words.

(vi) Questions No. 21 - 25 are long-answer questions carrying 5 marks each.
Answers to each of these questions should not exceed 150 words.

(vii) Questions No. 26 is related to identification and locating and labelling of
geographical features on maps.

(viii) Outline maps of the World and India provided to you must be attached
' within your answer-book.

(ix) Use of templates or stencils jor drawing outline maps is allowed.
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In which region are dogs and reindeer used as pack animals ?

3G HEMNT T AT §aqT3Y, S Sfeur mfERT & 2 W HATST | ed # | 1

Name the ‘Highway’ which connects the South American countries with
Canada.

ferm amfdfer amrep o Icareq iR fafime <=1 wftre € 2 1
In which economic sector are both production and exchange included ?

fha yer it afeqal, sl sumyd onide sevEmarei i gfd gEda:
fodares iR qefieren foramehemal & et 8 2 1
Which type of settlements derive their basic economic needs mainly from
secondary and tertiary activities ?

TR % WG WA B weh h gt gur & e A gesh A g

CIRIER _ 1

Which road plan was introduced to improve the conditions of roads in
India after independence ?

‘sl Yu-FET T HT GBI BRI T § ? 1
What is the main cause of formation of ‘urban smog’ ?

uTfeares @il <1 &1 @i & afieha HIFT | é+é=}.

Classify metallic minerals into two categories.

gt & Tt T Sl TR & 9Y A FHa1 TR ? 1

Why were all forms of transport referred to as lines of communication ?

ER H ged 3rferes 3R ge@ % o ura ol 9 % AW wars | %+%=1

Name the countries having the highest and the lowest sex ratio in the
world.

Sfqurufsen & 39 @ WSt & AW warsy, =R 9me faem fud’ w

1

g1ty % fRa R Liloy

g

Name the two South-Asian economists, who have worked together on
‘Human Development Report’.
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Fafeufa st gurfad et 8 2 6 3gEwn digd T FHI | 3x1=3
How does access to sources of energy and labour supply influence
industrial location in the world ? Explain with three examples.

Har % fywfa i fawmsfia 3 & &= el il e 7 9gd =R i

TR ST 8 2 IS o9 HROT T FHINT | 3x1=3
Why does quality of roads vary greatly between developed and developing
countries of the world ? Explain any three reasons.
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Study the diagram showing the classwise distribution of urban population
of India, according to 2001 census and answer the questions that follow :

T

1o
(18.1) Identify and label the class of city as shown by ‘A’ in the diagram.
(13.2) Mention any four characteristics of such type of cities.
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19.

Faferea go7 aer giegia udientefar & g gv7 &I 13 & € R/ &

The following question is for the Blind Candidates only, in lieu of
Q. No. 13:

WA o qtd a1 o TRI ! el i famiwaret = e Hifv | 3x1=3

Explain any three features of class third cities of India.

“am W § i R i FHEE Iz § O SeEE T 9
2 1”7 38w F g afed gfe i | 3x1=3

“There is a negative correlation between economic development and
population growth throughout the world.” Support this statement with
examples.

R HA1 B I9AT R YR feRem St & 2 ER el o feRedl @ @i i
e I | 1+2=3
How is solar energy tapped ? Explain any two advantages of solar energy.

aid # ‘gesh T ﬁagawaq-—dta%ﬁ% foredl T o i Ierewel wfdd
e HIfT | 3x1=3

Why is there a great variation in ‘road density’ in India ? Explain any
three reasons with examples.

g HY 7 A TR % TERAT 1 379 917G § 68 TSR 9a i g .
T ? ? T8 HIlT | 3

How do various types of chemicals used in modern agriculture create
water pollution in India ? Explain.

m%mmwﬁ%mﬁaﬁg%ﬁmmmmnﬁ,
forepra <61 i wrifert i aw@ i | 3x1=3

Examine the three strategies of development adopted by the government
to increase foodgrains production just after independence.

ﬁﬁﬁm%aﬁm%ﬁ%ﬁwﬁ?ﬁaq@aﬁwwmaﬁw -
I | 3x1=3

Explain any three reasons for the sharp rise in overseas trade of India,

after independence.
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“Sepfa TR WA Th-gER | SfAargEs 19 §C B |7 39 @Y i S W@ *
mmmwﬁﬁm%?m'ﬁﬁm 3x1=3

“Nature and humans are intricately intertwined.” What human values

are required to sustain this relationship ? Explain.

IeEwl wfed T HIE & ‘srith = 39 % e yer afens

B Tl 2 | | 5x1=5

Explain with examples how ‘International Trade’ can be detrimental to

nations.

fate $fN =1 8 ? 9ur § =i e Fate FY H 5 ) foviwaret @&
Fuiq hifT | 1+44=5

What is subsistence agriculture ? Describe any four salient features of

intensive subsistence agriculture practised in the world.

Foifaa el ot ey Sfem =efla @ & fou smaws Al viw Hew
YR 6T =TT HINT | 5x1=5

Explain any five important measures necessary for leading a healthy and

reasonably long life.

‘guf=a ST e s ﬁméa%;ﬁmﬁﬁﬁamqaaﬁ
2 7 9fe 3Tl Efea wm T | 5x1=§

How has the ‘Integrated Tribal Development Project’ helped in the
development of Bharmaur Region ? Explain with five examples.

ToR & foemesiia gun 6t oo et it feedl uie yg@ awenstt i e
HIfTY | 5x1=

Explain any five major problems of rural settlements in the developing
countries of the world.
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26. (26.1)

: -(26.2')

(26.1)

(26.2)
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AR @EU A, B, C 3 D waw % Ru 7w tEnaEk
(g8 9 W) ¥ 2ifeha fopu T B | Fi= & T8 TR i AGE § 37 A
#Y ygaE hife 3R 3T TE T TERE § W%@aﬁw%m:ezxé:z

A. AFa fasm geshie 2003 § =HdH I 9Tl 3N

B. TURMIH Halfte SEEA gig & el oF
C. UH ¥g@ Wgl-oe
D. Us WmiEd

wRA & feu e aerfes Yaamt (98 11 W) § Feafalaa i
1 39 ol & gz ik 37 7w fafa 3x1=3

() T SHEEAT 1 TaifYes gfaea I T
(i) WET % IcuTeH § S| e T

(i) TR P T AUSA Hl AT

Four features A, B, C and D are marked in the given political
outline map of the World (on page 9). Identify these features
with the help of the following information and write their correct
names on the lines marked in the map :

A. The country having the lowest rank in the Human
Development Index in 2003

B. The country having the highest growth rate of population in
Asia :

C. A major sea-port

D. A Megacity

In the given political outline map of India (on page 11), locate
and label the following features with appropriate symbols.

(i) The state having the highest percent of rural population
(11)) The leading maize producing state

(111)) The headquarter of ‘East Coast Railway Zone’
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Note : The following questions are for the Blind Candidates only, in lieu of

Q. No. 26 :

(26.1)

(26.2)

(26.3)
(26.4)
(26.5)

(26.1)

(26.2)

(26.3)

(26.4)

(26.5)

TaR ® 2003 # 50 91 1 THE [T gAhi qad w9 o1 ?
e 7 ged i sHEE gig @ 9T 9 1 AW 4y |

WILd & TTeior SHEEI % et Ifae aren T Hi-a1 8 2

TET % IS § WRA % SO TSI T AW AT |

A & T P 1 Avea’ Hl JEIad HH-a1 8 2 5xI=5

Which country had the lowest rank in the ‘Human Development
Index’ in 2003 in the world ? '

Name the country which has the highest growth rate of
population in Asia.

Which state of India has the highest percentage of rural
population ?

Name the state of India which is the leading producer in maize
production.

Which is the headquarter East Coast Railway Zone of India ?
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Outline Map of India (Political)
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